# On connection between values of Riemann zeta function at rationals and generalized harmonic numbers 

Paweł J. Szabłowski<br>Department of Mathematics and Information Sciences, Warsaw University of Technology<br>ul. Koszykowa 75,<br>00-662 Warsaw, Poland


#### Abstract

Using Euler transformation of series, we relate values of Hurwitz zeta function $\zeta(s, t)$ at integer and rational values of arguments to certain rapidly converging series, where some generalized harmonic numbers appear. Most of the results of the paper can be derived from the recent, more advanced results, on the properties of Arakawa-Kaneko zeta functions. We derive our results directly, by solving simple recursions. The form of mentioned above generalized harmonic numbers carries information, about the values of the arguments of Hurwitz function. In particular we prove: $\forall k \in \mathbb{N}: \zeta(k, 1)=$ $\zeta(k)=\frac{2^{k-1}}{2^{k-1}-1} \sum_{n=1}^{\infty} \frac{H_{n}^{(k-1)}}{n 2^{n}}$, where $H_{n}^{(k)}$ are defined below generalized harmonic numbers, or that $\mathbb{K}=\sum_{n=0}^{\infty} \frac{n!\left(H_{2 n+1}-H_{n} / 2\right)}{2(2 n+1)!!}$, where $\mathbb{K}$ denotes Calatan constant and $H_{n}$ denotes $n$-th (ordinary) harmonic number. Further we show that generating function of the numbers $\hat{\zeta}(k)=\sum_{j=1}^{\infty}(-1)^{j-1} / j^{k}, k \in \mathbb{N}$ and $\hat{\xi}(0)$ $=1 / 2$ is equal to $B(1 / 2,1-y, 1+y)$ where $B(x, a, b)$ denotes incomplete beta function.


Mathematics Subject Classification: Primary 111M35, 40G05, ; Secondary 05A15, 05E05

Keywords: Riemann zeta function Hurwitz zeta function, Euler summation, Harmonic numbers, generalized Harmonic numbers, Catalan constant.

## 1 Introduction

First let us recall basic notions and definitions that we will work with. By the Hurwitz function $\zeta(s, \alpha)$ we will mean:

$$
\zeta(s, \alpha)=\sum_{j=0}^{\infty} \frac{1}{(j+\alpha)^{s}}
$$

considered for $\operatorname{Re} s>1, \operatorname{Re} \alpha \in(0,1]$. Function $\zeta(s, 1)$ is called Riemann zeta function. We will denote it also by $\zeta(s)$, if it will not cause misunderstanding. It turns out that both these functions can be extended to holomorphic functions of $s$ on the whole complex plane except $s=1$ where a single pole exists. Of great help in doing so is the formula

$$
\begin{equation*}
\zeta(s)=\frac{2^{s-1}}{2^{s-1}-1} \sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{j^{s}} \tag{1}
\end{equation*}
$$

that enables to extend Riemann zeta function to the whole half plane $\operatorname{Re} s>0$.
We will consider numbers:

$$
\mathbb{M}_{k}^{(m, i)}=\sum_{j=0}^{\infty} \frac{(-1)^{j}}{(m j+i)^{k}}
$$

for $m \in \mathbb{N}$ and $i \in\{1, \ldots, m-1\}$. Notice that $\mathbb{M}_{k}^{(1,1)}=\sum_{j=1}^{\infty}(-1)^{j-1} / j^{k}$ and $\mathbb{M}_{1}^{(2,1)}=\pi / 4$. The number $\mathbb{M}_{2}^{(2,1)}=\sum_{j=0}^{\infty} \frac{(-1)^{j}}{(2 j+1)^{2}}$ is called Catalan constant $\mathbb{K}$.

It is elementary to notice that

$$
\mathbb{M}_{k}^{(m, i)}=\frac{1}{(2 m)^{k}}(\zeta(k, i /(2 m))-\zeta(k, 1 / 2+i /(2 m))
$$

The main idea of this paper is to apply the so called Euler transformation, that was nicely recalled by Sondow in [12]. As pointed out there we have:

$$
\sum_{k=1}^{\infty}(-1)^{k-1} a_{k}=\sum_{n=0}^{\infty} \Delta^{n} a_{1} / 2^{n+1}
$$

where $\left\{a_{k}\right\}_{k \geq 1}$ is a sequence of complex numbers and the sequence $\Delta^{n} a_{k}$ is defined recursively: $\Delta^{0} a_{k}=a_{k}, \Delta^{n} a_{k}=\Delta^{n-1} a_{k}-\Delta^{n-1} a_{k+1}=\sum_{m=0}^{n}(-1)^{m}\binom{n}{m} a_{m+k}$.

Sondow in [12] presented general idea of applying Euler transformation to Riemann function. He however stopped half way in the sense that he calculated finite differences $\Delta^{n}$ applied to $(j+1)^{-s}$ only for $s$ being negative integers. We are going to make a few steps further and calculate these differences pointing out the rôle of the generalized harmonic numbers in those calculations.

As stated in the abstract most of the results of this paper can be derived from recent more advanced results concerning Lerch and Arakawa-Koneko zeta functions that were presented in the series of papers [3], [4], [5], [6], [7].

We present here an alternative, simple way of obtaining them by solving simple recursion.

The paper is organized as follows. In the next section 2 we present an auxiliary result that enables application of Euler transformation to the analyzed series. Further we present transformed series approximating numbers $\mathbb{M}_{k}^{(m, i)}$. In Section 3 we calculate generating functions of certain series of numbers and functions. More precisely we calculate generating functions of the generalized harmonic numbers that we have defined in the previous section. We also calculate generating function of the series of the generating functions that were defined previously. It turns out that this calculation enables to obtain the generating function of the series sums that appear on the right hand side of (1). Finally in the last Section 4 there are collected cases when exact values of numbers $\mathbb{M}$ are known.

## 2 Euler transformation

To proceed further we need the following result.

Proposition 1 Let us denote $A_{n, k}^{(m, i)}=\sum_{j=0}^{n}(-1)^{j}\binom{n}{j} /(m j+i)^{k}, n=0,1, \ldots$, and the family of sequences defined recursively: $B_{n, 0}^{(m, i)}=1, B_{0, k}=\frac{1}{i^{k-1}}, k \geq 1$, $\forall n, k \geq 0: B_{n, k}^{(m, i)}=\sum_{j=0}^{n} \frac{1}{(m j+i)} B_{j, k-1}^{(m, i)}$. We have then:
$\forall m \in \mathbb{N}: A_{0,0}^{(m, i)}=1, A_{n, 0}^{(m, i)}=0, A_{n, 1}^{(m, i)}=\frac{n!}{m(i / m)_{n+1}}$, where $(a)_{n}=a(a+1) \ldots(a+n-1)$ is the so called 'rising factorial'. $\forall n \geq 0, k \geq 1$ we get:

$$
A_{n, k}^{(m, i)}=\frac{n!}{m(i / m)_{n+1}} B_{n, k-1}^{(m, i)} .
$$

Proof. i) The fact that $A_{n, 0}=0$ follows immediately properties of binomial coefficients. Notice that we have

$$
\begin{gathered}
A_{n+1, k}^{(m, i)}-\frac{m(n+1)}{m(n+1)+i} A_{n, k}^{(m, i)}=\sum_{j=0}^{n}(-1)^{j}\binom{n+1}{j} /(m j+i)^{k}+\frac{(-1)^{n+1}}{(m(n+1)+i)^{k}} \\
-\frac{m(n+1)}{m(n++1)+i} \sum_{j=0}^{n}(-1)^{j}\binom{n}{j} /(m j+i)^{k}=
\end{gathered}
$$

$$
\begin{gathered}
\frac{(-1)^{n+1}}{(m(n+1)+i)^{k}}+\sum_{j=0}^{n}(-1)^{j}\left(\binom{n+1}{j}-\frac{m(n+1)!}{j!(n-j)!(m(n+1)+i)}\right) /(m j+i)^{k} \\
=\frac{(-1)^{n+1}}{(m(n+1)+i)^{k}}+\frac{1}{m(n+1)+j} \sum_{j=0}^{n}(-1)^{j}\binom{n+1}{j} /(m j+i)^{k-1} \\
=\frac{1}{m(n+1)+i} \sum_{j=0}^{n+1}(-1)^{j}\binom{n+1}{j} /(m j+i)^{k-1}=\frac{1}{m(n+1)+i} A_{n+1, k-1}^{(m, i)}
\end{gathered}
$$

since $\left(1-\frac{m(n+1-j)}{(m n+m+i)}\right)=\frac{j m+i}{m+m n+i}$. Now notice that we have $A_{n+1,1}^{(m, i)}-\frac{m(n+1)}{m(n+1)+i} A_{n, 1}^{(m, i)}$ $=0$ from which immediately follows that $A_{n, 1}^{(m, i)}=\frac{n!}{m(i / m)_{n+1}}$ since $A_{0,1}^{(m, i)}=\frac{1}{i}$. Now divide both sides of the identity $A_{n+1, k}^{(m, i)}-\frac{m(n+1)}{m n+m+i} A_{n, k}^{(m, i)}=\frac{1}{m n+m+i} A_{n+1, k-1}^{(m, i)}$ by $A_{n+1,1}^{(m, i)}$ and denote $B_{n, k}^{(m, i)}=A_{n, k}^{(m, i)} / A_{n, 1}^{(m, i)}$. We get $B_{n+1, k}^{(m, i)}-B_{n, k}^{(m, i)}=\frac{1}{m(n+1)+i} B_{n+1, k-1}^{(m, i)}$ since $A_{n+1,1}^{(m, i)}=\frac{m(n+1)}{m n+m+i} A_{n, 1}^{(m, i)}$. Hence $B_{n, k}^{(m, i)}=\sum_{j=0}^{n} \frac{1}{m j+i} B_{j, k-1}^{(m, i)}$ since $\forall k \geq 1$ : $B_{0, k}^{(n, i)}=1 / i^{k-1}$.
Remark 1 In the literature (compare e.g. [2], [8], [10]) there function notions of harmonic and generalized harmonic numbers defined by $h_{n}^{(k)}=\sum_{j=1}^{n} 1 / j^{k}$, $n \geq 1$. Numbers $h_{n}^{(1)}$ are called simply (ordinary) harmonic numbers. Another way to generalize the notion of harmonic numbers was presented by Coppo and Candelpergher in their papers [5], [6], [7]. There the generalized harmonic numbers were defined using Bell's polynomials.

We are going to define differently generalized harmonic numbers.
Definition 1 For every $k \in \mathbb{N}$ numbers $\left\{H_{n}^{(k)}\right\}_{n \geq 1, k \geq 0}$ defined recursively by $H_{n}^{(0)}=1, H_{n}^{(k)}=\sum_{j=1}^{n} H_{j}^{(k-1)} / j, n \geq 1$ will be called generalized harmonic numbers of order $k$.
Remark 2 It is easy to see that $B_{n, k}^{(1,1)}=H_{n+1}^{(k)}$ and that $H_{n}^{(1)}$ is an ordinary $n$-th harmonic number.

Remark 3 Notice that $H_{n}^{(k)}$ is a symmetric function of order $k$ of the numbers $\{1,1 / 2, \ldots, 1 / n\}$ hence it can be expressed as a linear combination of some other symmetric functions of order less or equal $k$. For example we have: $H_{n}^{(1)}$ $=h_{n}^{(1)}=H_{n}$ (the ordinary harmonic number), $H_{n}^{(2)}=H_{n}^{2} / 2+h_{n}^{(2)} / 2, H_{n}^{(3)}=$ $H_{n}^{3} / 6+H_{n} h_{n}^{(2)} / 2+h_{n}^{(3)} / 3$ and so on.

Remark 4 Notice also that recursive equation, that was obtained in the proof of Proposition 1 i.e.

$$
A_{n+1, k}^{(m, i)}-\frac{m(n+1)}{m(n+1)+i} A_{n, k}^{(m, i)}=\frac{1}{m(n+1)+i} A_{n+1, k-1},
$$

is valid also for $k=0,-1,-2, \ldots$. Of course then we apply it in the following form:

$$
A_{n+1, k-1}=(m(n+1)+i) A_{n+1, k}-m(n+1) A_{n, k}^{(m, i)}
$$

getting for example : $A_{0,-1}^{(m, i)}=1, A_{1,-1}^{(m, i)}=-m, A_{n,-1}^{(m, i)}=0, A_{0,-2}^{(m, i)}=1, A_{1,-2}^{(m, i)}$ $=-m(m+i+1), A_{2,-2}^{(m, i)}=2 m^{2}, A_{n,-2}^{(m, i)}=0$ for $n=3,4, \ldots$. The fact that $A_{n,-k}^{(m, i)}=0$ for $n \geq k+1$ was already noticed, justified and applied by Sondow in [12].

As a corollary we have the following result:

## Theorem 2

$$
\begin{equation*}
\mathbb{M}_{k}^{(m, i)}=\sum_{n=0}^{\infty} \frac{n!}{2^{n+1} m(i / m)_{n+1}} B_{n, k-1}^{(m, i)} \tag{2}
\end{equation*}
$$

where numbers $B_{n, k}^{(m, i)}$ are defined above.
i) In particular :

$$
\begin{gather*}
\mathbb{M}_{2 k+1}^{(2 m, m)}=\frac{1}{m^{2 k+1}} M_{2 k+1}^{(2,1)}=\pi^{2 k+1} \frac{(-1)^{k} E_{2 k}}{2(2 m)^{2 k+1}(2 k)!}  \tag{3}\\
\mathbb{M}_{2}^{(2,1)}=\mathbb{K}=\sum_{n=0}^{\infty} \frac{n!\left(H_{2 n+1}-H_{n} / 2\right)}{2(2 n+1)!!} \tag{4}
\end{gather*}
$$

where $H_{n}$ denotes $n-t h$ (ordinary) harmonic number.
ii) for $m=i=1, k \in \mathbb{N}$ :

$$
\begin{equation*}
\sum_{j=1}^{\infty} \frac{(-1)^{j-1}}{j^{k}}=\sum_{n=1}^{\infty} \frac{H_{n}^{(k-1)}}{n 2^{n}} \tag{5}
\end{equation*}
$$

and consequently for $k=2,3, \ldots$

$$
\begin{equation*}
\zeta(k)=\frac{2^{k-1}}{2^{k-1}-1} \sum_{n=1}^{\infty} \frac{H_{n}^{(k-1)}}{n 2^{n}} \tag{6}
\end{equation*}
$$

Proof. Applying Euler transformation to the series $\mathbb{M}_{n, k}^{(m, i)}$ we have

$$
\mathbb{M}_{n, k}^{(m, i)}=\sum_{n=0}^{\infty} A_{n, k}^{(m, i)} / 2^{n+1}
$$

Now it remains to apply Proposition 1. i) To see that (2) reduces to (4) when $k=2, m=2$ and $i=1$ notice that $B_{n, 0}^{(2,1)}=1$ and consequently $B_{n, 1}^{(2,1)}$ $=\sum_{j=0}^{n} 1 /(2 j+1)=H_{2 n+1}-2 H_{n}$. Further we have $(1 / 2)_{n+1}=\prod_{j=0}^{n}(j+$
$1 / 2)=(2 n+1)!!/ 2^{n+1}$. To justify (3) we have to observe that $2 \mathbb{M}_{2 k+1}^{(2 m, m)}=$ $\hat{S}(2 k+1,2 m, m)=\sum_{j=-\infty}^{\infty} \frac{(-1)^{j}}{(j 2 m+m)^{2 k+1}}=\frac{1}{m^{2 k+1}} \sum_{j=-\infty}^{\infty} \frac{(-1)^{j}}{(j 2+1)^{2 k+1}}$. The fact that $\sum_{j=-\infty}^{\infty} \frac{(-1)^{j}}{(j 2+1)^{2 k+1}}=\pi^{2 k+1}(-1)^{k} \frac{E_{2 k}}{2^{2 k+1}(2 k)!}$ dates back to Euler and was recalled in [13].
ii) If $m=i=1$ we have $(1)_{n+1}=(n+1)$ !. Recall also that then $B_{n, k}^{(m, i)}=$ $H_{n+1}^{(k)}$. (6) follows additionally (1).

Remark 5 Notice that when $i=1$, then the sequence $\left\{B_{n, k}^{(m, 1)}\right\}$ is generated by the recursion: $B_{n, 0}^{(m, 1)}=1, B_{n, k}^{(m, 1)}=\sum_{j=0}^{n} B_{n . k-1}^{(m, 1)} /(m j+1)$. Now arguing by induction we see that $\forall n \geq 0: B_{n, k}^{(m, 1)} \geq B_{n, k-1}^{(m, 1)}$. Consequently we deduce that the sequence $\left\{\mathbb{M}_{k}^{(m, 1)}\right\}_{k \geq 1}$ is increasing, which is not so obvious when considering only definition of these numbers. It is also elementary to notice that

$$
\lim _{k \longrightarrow \infty} \mathbb{M}_{k}^{(m, 1)}=1
$$

In particular we deduce that the sequence $\left\{\zeta(k)\left(1-1 / 2^{k-1}\right)\right\}_{k>1}$ is increasing.

Remark 6 Notice that one can easily prove (by induction) that $\forall n, k \in \mathbb{N}$ : $1 \leq H_{n}^{(k)} \leq n$. Hence, utilizing (6) we have:

$$
\frac{\ln 2-1 / 2}{2^{m+1}(m+1)} \leq\left|\zeta(k)-\frac{2^{k-1}}{2^{k-1}-1} \sum_{n=0}^{m} \frac{H_{n+1}^{(k-1)}}{2^{n+1}(n+1)}\right| \leq \frac{1}{2^{m+1}}
$$

since $\frac{2^{k-1}}{2^{k-1}-1} \leq 2$ for $k \leq 2$ and further $\left|\zeta(k)-\frac{2^{k-1}}{2^{k-1}-1} \sum_{n=0}^{m} \frac{H_{n+1}^{(k-1)}}{2^{n+1}(n+1)}\right| \leq$ $\frac{2^{k-1}}{2^{k-1}-1} \sum_{n=m+1}^{\infty} 1 / 2^{n+1} \leq \frac{2^{k-1}}{2^{k-1}-1} / 2^{m+2}$ and $\frac{m+1}{n+1} \geq \frac{1}{n-m+1}$ and $\sum_{n=m+1}^{\infty} \frac{1}{2^{n+1}(n+1)}$ $\geq \frac{1}{2^{m+1}(m+1)} \sum_{n=m+1}^{\infty} \frac{1}{2^{n-m+1}(n-m+1)}=\frac{\ln 2-1 / 2}{2^{m+1}(m+1)}$.

Remark 7 Formulae (2) and (6) can be considered as a series transformation to speed up its convergence. Apery for $\zeta(3)$ in his breakthrough paper and later Hessami Pilehrood et al. in [9] obtained series transformations to speedup series appearing in the definitions of Riemann or Hurwitz zeta functions. As it is remarked in [9] all these transformation give series more or less of the form $c_{n} / 4^{n}$ where $c_{n}=O(1)$, but for different arguments of $\zeta$ one gets very different series in a very different, particular way. Apery's one is one of the simplest. Formulae (2) and (6) offer unified form of the transformed series and speed of convergence is only slightly worse. Namely of the form $c_{n} / 2^{n}$.

Remark 8 Notice also that analyzing the proof of Proposition 1 we can formulate the following observation. Let us denote $A_{n, s}^{(m, l)}=\sum_{j=0}^{n}(-1)^{j}\binom{n}{j} /(m j+l)^{s}$ for $\operatorname{Re}(s)>0$. Then

$$
A_{n+1, s}^{(m, l)}-\frac{m(n+1)}{m(n+1)+l} A_{n, s}^{(m, l)}=\frac{1}{m(n+1)+l} A_{n+1, s-1}^{(m, l)} .
$$

Hence keeping in mind that $A_{0, s}^{(m, l)}=1 / l^{s}$ and assuming that we know numbers $\left\{A_{n, s-1}^{(m, l)}\right\}_{n \geq 0}$ we are able to get numbers $\left\{A_{n, s}^{(m, l)}\right\}_{n \geq 0}$ and consequently find $\zeta(s, l / m)$.

In particular if $m=l=1$ we get $A_{n+1, s}-\frac{n+1}{n+2} A_{n, s}=\frac{1}{n+2} A_{n+1, s-1}$ where we denoted $A_{n, s}=A_{n, s}^{(1,1)}$ to simplify notation. Consequently we deduce that $A_{n, s}=$ $\frac{1}{n+1} \sum_{j=1}^{n} A_{j, s-1}$. Since we can iterate this relationship we see that the knowledge of functions $A_{n, s}$, for $\operatorname{Re}(s) \in(0,1]$ implies knowledge of these functions for $s$ with $\operatorname{Re}(s)>0$.

## 3 Generating functions and integral representation Riemann zeta functions at integer values

Let us denote by $f_{n}(x)$ the generating function of numbers $\left\{H_{j}^{(n)}\right\}_{j=0}^{\infty}$ i.e. $f_{n}(x)$ $=\sum_{j=0}^{\infty} x^{j} H_{j+1}^{(n)}$. We have the following simple observation:

Proposition 3 i) $\forall x \in(-1,1): f_{-1}(x)=1, f_{0}(x)=1 /(1-x):$

$$
\begin{equation*}
f_{n}(x)=\frac{1}{x(1-x)} \int_{0}^{x} f_{n-1}(y) d y \tag{7}
\end{equation*}
$$

$n \geq 1$.
ii) Let us denote $Q(x, y)$ the generating function of function series $\left\{f_{n}\right\}_{n \geq 0}$ i.e. $Q(x, y)=\sum_{j=0}^{\infty} y^{j} f_{j}(x)$, for $y \in(-1,1)$. We have

$$
\begin{equation*}
Q(x, y)=\frac{B(x, 1-y, 1+y)}{x^{1-y}(1-x)^{1+y}} \tag{8}
\end{equation*}
$$

where $B(x, a, b)$ denotes incomplete beta function.
Proof. i) We have $f_{n}(x)=\sum_{j=1}^{\infty} x^{j-1} H_{j}^{(n)}=\sum_{j=1}^{\infty} x^{j-1} \sum_{k=1}^{j} H_{k}^{(n-1)} / k=$ $\sum_{k=1}^{\infty} H_{k}^{(n-1)} / k \sum_{j=k}^{\infty} x^{j-1}=\frac{1}{1-x} \sum_{k=1} x^{k-1} H_{k}^{(n-1)} / k=$ $\frac{1}{x(1-x)} \sum_{k=1}^{\infty} H_{k}^{(n-1)} \int_{0}^{s} y^{k-1} d y=\frac{1}{x(1-x)} \int_{0}^{x} \sum_{k=1}^{\infty} y^{k-1} H_{k}^{(n-1)} d y$ $=\frac{1}{x(1-x)} \int_{0}^{x} f_{n-1}(y) d y$.
ii) We have: $(1-x) x Q(x, y)=\sum_{j=0}^{\infty} y^{j}(1-x) x f_{j}(x)=x+\sum_{j=1}^{\infty} y^{j} \int_{0}^{x} f_{j-1}(z) d z$ $=$
$\left.\left.x+\int_{0}^{x} \sum_{j=1}^{\infty} y^{j} f_{j-1}(z) d z\right)=x+y \int_{0}^{x} Q(z, y)\right) d z$. Differentiating with respect to $x$ we get: $(1-2 x) Q(x, y)+x(1-x) Q^{\prime}(x, y)=1+y Q(x, y)$. Now solving this differential equation we get $Q(x, y)=\frac{\operatorname{Beta}(x, 1-y, 1+y)-C(y)}{x^{1-y}(1-x)^{1+y}}$. Recalling that $Q(0, y)=1 /(1-y)$ we see $C(y)=0$.

Let us denote for simplicity $\hat{\zeta}(s) \stackrel{d f}{=} \sum_{j=1}^{\infty}(-1)^{j} / j^{s}$ for $\operatorname{Re}(s)>0$. Notice that following (5) we have

$$
\begin{equation*}
\hat{\zeta}(k)=\int_{0}^{1 / 2} f_{k-1}(x) d x=\frac{1}{4} f_{k}(1 / 2) \tag{9}
\end{equation*}
$$

for $k=1,2, \ldots$.
We also have:

$$
\sum_{j=0}^{\infty} y^{j} \hat{\zeta}(j)=B(1 / 2,1-y, 1+y)
$$

for $y \in(-1,1)$ following (8).
Recall that $\sum_{j=1}^{\infty} \zeta(2 j) t^{2 j}=1-\pi t \cot (\pi t)$ hence $\sum_{j=1}^{\infty} \hat{\zeta}(2 j) t^{2 j}=\frac{\pi t}{\sin (\pi t)}-$ 1 after some algebra. Hence

$$
\sum_{j=0}^{\infty} y^{2 j+1} \hat{\zeta}(2 j+1)=B(1 / 2,1-y, 1+y)+1-\frac{\pi y}{\sin (\pi y)}
$$

since $\hat{\zeta}(0)=1 / 2$. Let us remark that there exist some expansions of incomplete beta function. Applying one of them we have for example:

$$
\sum_{j=0}^{\infty} y^{j} \hat{\zeta}(j)=2^{y-1} \sum_{j=0}^{\infty} \frac{(-y)_{j}}{j!(j+1-y) 2^{j}}
$$

for $y \in(0,1)$.

## 4 Remarks on particular values

In [13] the sums of the form $S(n, k, l)=\sum_{j=-\infty}^{\infty} \frac{1}{(j k+l)^{n}}, \hat{S}(n, k, l)=\sum_{j=-\infty}^{\infty} \frac{(-1)^{j}}{(j k+l)^{n}}$ were analyzed and some of them were calculated. From the results of this paper it follows that the following sums:

$$
\mathbb{M}_{k}^{(m, i)}+(-1)^{k+1} \mathbb{M}_{k}^{(m, m-i)}
$$

have values of the form $\pi^{k}$ times some known, analytic number. Notice that this statement is trivial for $k$ odd, $m$ even and $i=m / 2$.

In particular we get for $k=2 l$ we have $\mathbb{M}_{2 l}^{(m, i)}-\mathbb{M}_{2 l}^{(m, m-i)}=\frac{1}{m^{2 l}}(\zeta(2 l, l /(2 m))$ $-\zeta(2 l,(m+i) /(2 m))-\zeta(2 l,(m-i) /(2 m))+\zeta(2 l,(2 m-i) /(2 m))=\frac{1}{m^{2 l}}(\zeta(2 l, l /(2 m))$ $+\zeta(2 l, 1-i /(2 m))-\zeta(2 l,(m+i) /(2 m)-\zeta(2 l,(m-i) /(2 m))$.

Following [13] we also have for $k \geq 1$ :

$$
S(2 k, 4,1)=\frac{1}{4^{2 k}}(\zeta(2 k, 1 / 4)+\zeta(2 k, 3 / 4))=\pi^{2 k} \frac{\left(2^{2 k}-1\right)}{2(2 k)!}(-1)^{k+1} B_{2 k},
$$

where $B_{2 k}$ denotes $2 k$ - th Bernoulli number. In particular we have

$$
16 \mathbb{K}=(\zeta(2,1 / 4)-\zeta(2,3 / 4)) ;(\zeta(2,1 / 4)+\zeta(2,3 / 4))=2 \pi^{2} .
$$

Finally let us recall that $\zeta(2 l, 1)=(-1)^{l+1} B_{2 l} \frac{(2 \pi)^{2 l}}{2(2 l)!}$. Using formula (6) we get:

$$
(-1)^{l+1} B_{2 l} \frac{(2 \pi)^{2 l}}{2(2 l)!}=\frac{2^{2 l-1}}{2^{2 l-1}-1} \sum_{n=1}^{\infty} \frac{H_{n}^{(2 l-1)}}{n 2^{n}},
$$

and consequently we obtain the following expansions of even powers of $\pi$ :

$$
\pi^{2 l}=(-1)^{l+1} \frac{(2 l)!}{\left(2^{2 l-1}-1\right) B_{2 l}} \sum_{n=1}^{\infty} \frac{H_{n}^{(2 l-1)}}{n 2^{n}} .
$$

## References

[1] Adamchik, V. S. On the Hurwitz function for rational arguments. Appl. Math. Comput. 187 (2007), no. 1, 3-12. MR2323548 (2008h:11090)
[2] Choi, Junesang. Certain summation formulas involving harmonic numbers and generalized harmonic numbers. Appl. Math. Comput. 218 (2011), no. 3, 734-740. MR2831299
[3] Coppo, Marc-Antoine. Nouvelles expressions des formules de Hasse et de Hermite pour la fonction zéta d'Hurwitz. (French) [New expressions of the Hasse and Hecke formulas for the Hurwitz zeta function] Expo. Math. 27 (2009), no. 1, 79-86. MR2503045 (2010f:11142)
[4] Coppo, Marc-Antoine; Candelpergher, Bernard. The Arakawa-Kaneko zeta function. Ramanujan J. 22 (2010), no. 2, 153-162. MR2643700 (2011g:11172)
[5] Candelpergher, Bernard; Coppo, Marc-Antoine. A new class of identities involving Cauchy numbers, harmonic numbers and zeta values. Ramanujan J. 27 (2012), no. 3, 305-328. MR2901260 (Reviewed)
[6] Candelpergher, Bernard; Coppo, Marc-Antoine. Le produit harmonique des suites. (French) [The harmonic product of sequences] Enseign. Math. (2) 59 (2013), no. 1-2, 39-72. MR3113599 (Reviewed)
[7] Coppo, Marc-Antoine; Candelpergher, Bernard. Inverse binomial series and values of Arakawa-Kaneko zeta functions. J. Number Theory 150 (2015), 98-119. MR3304609
[8] Choi, Junesang. Summation formulas involving binomial coefficients, harmonic numbers, and generalized harmonic numbers. Abstr. Appl. Anal. 2014, Art. ID 501906, 10 pp. MR3246339 (Reviewed)
[9] Hessami Pilehrood, Kh.; Hessami Pilehrood, T. Bivariate identities for values of the Hurwitz zeta function and supercongruences. Electron. J. Combin. 18 (2011), no. 2, Paper 35, 30 pp. MR2900448 (Reviewed)
[10] Kronenburg, M., J. Some generalized harmonic numer identities, arxiv: 1103.5430 v 2
[11] J. Guillera and J. Sondow, Double integrals and in nite products for some classical constants via analytic continuations of Lerch's transcendent, Ramanujan J. 16 (2008), 247-270.
[12] Sondow, Jonathan. Analytic continuation of Riemann's zeta function and values at negative integers via Euler's transformation of series. Proc. Amer. Math. Soc. 120 (1994), no. 2, 421-424. MR1172954 (94d:11066)
[13] Szabłowski, Paweł J. A few remarks on values of Hurwitz Zeta function at natural and rational arguments, Mathematica Aeterna, Vol. 5 (2015), no. 2, 383-394, http://arxiv.org/abs/1405.6270

Received: August, 2015

